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The sixth order poynomial function is given by
P(B) = agB°® + asB° + asf* + asB’ + a28” + a18 + ao.

Let us define

ur = (53) gk, w2 = [Isil?, us = vkl wa = lgill®, us = fi—fe—(90)sks ue = (yi) sk ur = (Ui) gk
Then, the coefficients of P(3) are as follows:

ag = —16ug, as = 2ug(—uz(Sus/us — 4/usug) — 16ug) + 2u3(Sus/uz — 4/uzug),

ag = — 2ug(—uz(8us /ug — 4/usug) — 16ug)ur — 1/4u3(Sus/ug — 4/ugue)(—uz (Sus /ua — 4/uzug) — 16ug)
+ 4u3 (2ugus Jus — (ug — ugusz)/ug — 2uy 4+ 1/ugud — uz) — ua(—uz(8us/us — 4/usug) — 16ug)ug
+ 16u§u4 + 16u%u7 + dus(—ug (2ueus /us — (u?5 — ugus)/ug — 2uy + l/ugug —ug) — 2u§ + 2ugus)

+ 2u (Sus Jug — 4/usug)uy + duius + ui(Sus/uy — 4/uzug)ug,

az = — dug(—uz (2ugus fuz — (ui — uguz) /ug — 2ur + 1/ ugul — ug) — 2ui + 2ugusz)uy
— 1/2u3(2ugus /us — (u2 — ugus) /us — 2ur + 1/ ugui — uz)(—ua(Sus/us — 4/usug) — 16ug)
— 2up(—ua (2ueus fuz — (ud — ugus)/ug — 2ur + 1/ugud — uz) — 2ul + 2ugusz)ug + 32uiuguy
+ 16udusur — 1/2u3(8us/us — 4/usug)(—us(2ugus /us — (ui — ugusz)/us — 2uy + 1/ugud — us3)
— 202 + 2uguz) — 2ua(—us(8us/uz — 4/ugug) — 16ug)ucur + 2u3(Sus/ug — 4/uzue)uguy
— 1/2up(—2uy — 2us)(—uz(8us/us — 4/usug) — 16ug)ug + 4us(—2uy — 2us)us + 4ui(2ugus /us
— (u2 — ugus) fus — 2ur + 1/ ugul — uz)uy + 2us(2ugus /uzy — (ui — ugus)/ug — 2uy + 1/usu? — us)ug
+ 1/2u3 (8us /uy — 4/usug)(—2u1 — 2us)ug + Sus(—2u; — 2us)uy,



ay =Sudug(—2uy — 2us)ur — dug(—uz (2ugus /us — (U — ugus) /ug — 2ur + 1/ ugul — us)
— 2u2 + 2uguz)uur — 1/2ug(uf — ugusz)(—ugz(8us/us — 4/uzue) — 16ug)us
+ 8us(—ug(u1 + us) + ua(ur + ugus/ug))ur + ui(—2u; — 2us)*uz + 16uiuguy
+ 1/2u3(8us /ug — 4/ugue) (ug — uguz)ur + dus(2ugus/uz — (us — uguz) /us
— 2uy + 1/ugui — uz)uguy + 1/2u3(8us/us — 4/usue)(—ug(u1 + us) + uz(ur + ugus/uz))ug
+ud(2ugus fug — (U2 — ugus) Jug — 2ur + 1/ ugud — usz)(—2uy — 2us)ug
— ug(—2uy — 2us)(—us (2ugus /ug — (Ui — ugus) /uz — 2ur + 1/ugu? — uz) — 2u2 + 2uqus)ug
+ 1/2u3 (Sus /us — 4/usue) (Ui — uous)us/us — ug(ur + ugus/us) + usz(ug + us))
— u3(2ugus/ug — (ud — uguz)/ug — 2ur + 1/ugud — uz)(—us(2ugus/usz
— (ud — ugus) fus — 2uy + 1 ugui — uz) — 2ud + 2ugus) — 1/2u3((ui — ugus)us/us
— ug(uy + uus/ug) + uz(uy + us))(—uz(8us/us — 4/usug) — 16ug) + Sus((ug — uguz)us/us
— ug(ur + ugus /ug) + uz(uy + us))uy + 4ud((ul — uguz)us/ug — ue(ur + ugus/uz) + uz(ur + us))ue
+ 4u3(—ug(u1 + us) + ua(ur + ugus/ug))uz — 1/2us(—ue(u1 + us)
+ ug(ur + upus /uz) ) (—uz(8us /ug — 4/usug) — 16ug)ug

+ 8u3(ug — ugus)uy + 4us(ud — ugus)uy,

ay =8us(ug — uguz)usug + 2u3(—ug(ur + us) + ua(ur + ugus/uz))uz(—2us — 2us)
+ Susug(—ug(u1 + us) + us(ur + ugus /ug) Jur + 2ud(ug — uguz)(—2u; — 2us)uy
+ 8u3((u2 — uguz)us/uz — ug(ur + ugus /uz) + uz(ur + us))usur — uz(ui — ugus)(—us (2ugus /uz
— (ud — ugus) fus — 2uy + 1 ugui — uz) — 2u2 + 2usus)uy + us(2ugus /us — (Ui — ugus)/us

— 2u7 + 1 ugul — uz)(ud — uguz)us/ug — ue(ur + ugus/us) + uz(uy + us)) — ua((uad — ugus)us/ug

— ug(ur + ugus/ug) + uz(us + us))(—u2 (2ugus /us — (ug — ugug)/ug — 2uy + l/ugug —ug) — 2u(23 + 2uoug)

+ud(2ugus fug — (U2 — ugus) Jug — 2ur + 1/ ugud — us)(ui — uous)uy + u(2ueus /us
— (u2 — uguz) fug — 2uy + 1 ugud — uz)(—ue(us + us) + uz(ur + ugus/uz))ug

+ 2u3((uZ — ugus)us Jus — ug(ur + ugus/ug) + us(uy + us))(—2u; — 2us)ug

— ug(—ug(uy + us) + uz(ur + ugus /uz)) (—uz(2usus /uz — (ud — uzusz)/ug

— 2uy + 1/ugul — uz) — 2ul + 2uous)ug,

ao =u3(ud — ugus)?uy + ui(—ug(uy 4 us) + g (uy + ugus /uz))*us + 2u3(ug — ugus)(—ug(uy + us)
+ ug(ur 4+ ugus /ug))uy + 2u§(u§ — uQU3)((u(23 — ugu3z)us /uz — ug(uz + usus/ug)
+ uz(uy + us))uy + ué((u?3 — ugug)us /us — ug(ur + ugus/ug) + usz(ug + u;)))2 + 2u§((u§ — Ugu3z)Us /Us

— UG(U7 + ’U,6U5/UQ) + U3(U1 =+ U5))(—u6(u1 =+ U5) =+ UQ('U;? + UGU5/’U2))UG.



